


= A & (leftsided test) 2= & (two-sided test) S =2 E(right-sided test)

H,: p=0.01 Hy: p=0.01 H,: p<0.01

H,: p<0.01 H,: p#0.01 H,: p>0.01
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9] HAI(LAW OF LARGE NUMBER)

& <2 7:1> SHER7] AR50} Julo] FUSH g 245

0.3
0.2461
Pr(N,=n/2)
02 =BINOMDIST (n/2,1,05,0)
01 0.0796
0.0252
- 0.0080 0.0025 0.0008 0.0003
0 L 1 1 | 1 1 n
10 100 1,000 10,000 100,000 1,000,000 10,000,000

Number of Trials
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O 4~2] HAI(LAW OF LARGE NUMBER)

* Proportion of heads (John Kerrich’s coin-tossing experiment)

/’I L} IIIIIIII T L} lllllll L) T llllIII
1 2 3 4+

10 10 10
Number of tosses



HEH=I 5 QX}
¢ 273t 8219H 9] 7](cm)
0% H(1)=159.37 o] 1. RFEHX}H0)=7.29
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Sample 1 Sample 2 Sample 3 Sample 4 Sample 5 Sample 6 Sample 7 Sample 8 Sample 9 Sample 10

163
158
158
151
172
167
162
161
163
170

159
161
159
157
153
165
153
176
170
168

164
165
143
162
154
149
163
165
161
165

164
158
155
164
148
147
167
155
148
165

169
179
165
158
161
160
158
176
164
174

159
149
158
151
163
164
155
140
174
158

159
167
156
153
166
158
161
158
160
159

158
172
152
176
158
149
169
162
154
157

X, =162.5 X, =162.1 X,=159.1 X =157.1 X, =158 X;=157.8 X =166.4 X, =157.1 % =159.7 X10=160.7

£=6.169

$=7.534

§=7.767 £=7.695

146 163
167 156
161 169
163 148
163 146
154 168
151 164
154 155
147 152
174 157
£=9.080 £=7.997

$=7.706

§=9.267 $=4.218

£=8.932
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149
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158
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148
147
167
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169
179
165
158
161
160
158
176
164
174

159
149
158
151
163
164
155
140
174
158

159
167
156
153
166
158
161
158
160
159

158
172
152
176
158
149
169
162
154
157

X, =162.5 X, =162.1 X,=159.1 X =157.1 X, =158 X;=157.8 X =166.4 X, =157.1 % =159.7 X10=160.7

£=6.169

$=7.534

§=7.767 £=7.695

146 163
167 156
161 169
163 148
163 146
154 168
151 164
154 155
147 152
174 157
£=9.080 £=7.997

$=7.706

§=9.267 $=4.218

£=8.932
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& 7219] Fx)71(18] A 42 2, n=1)

X 1 2 3 - 5

6

Pr(X)

1/6

1/6

1/6

1/6

1/6

1/6

1/6

Prx)

& Zx19] ©x17] (28] ©A e 5:9] &, n=2)

X1+ X, 1 2 3 4 5 6

1 2 3 - 5 6 7

2 3 - 5 6 7 8

3 - 5 6 7 8 9

- 5 6 7 8 9 10

5 6 7 8 9 10 11

6 7 8 9 10 11 12

¢ BRIV n=2 BEYT BEYFY RELE

X+ X, | 2 3 4 5 6 7 9 10 11 12
X 1 15 2 25 3 135 45 5 55 6
Pr(X) |1/36 2/36 3/36 4/36 5/36 6/36 5/36 4/36 3/36 2/36 1/36

1/6

Pr(X)
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SAEA |2 = W& Al shAL o8] H2 A5 2ol == BoH, 34
= A A= 9 - OWUJ%E R %“Rif%ﬁ W77t =t =&l 74
A7} 5”01 AL oAl Aol

SIgo] AIUR| Al To]l Yo = v =2 AJTH, dHol 25 Y =& x4}
H SA o] opd A& F7gstal A3 Aot FAIY] A7 & H :p<050]
o R 527t 95 RH ?—1 Y gloy, &5 7% (left-sided test)OlUr SrH = S
Ho] X|UX|A| @ol] et =& %l&’ifi}%, Frle] AF7HE & "Hy:p> 0.5 0|t
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ZERES

Ny =k 0 1 2 3 4 5 6 7 8 9 10

Pr(N,,=k) 0.001 0.010 0.044 0.117 0.205 0.246 0.205 0.117 0.044 0.010 0.001

p-value(k)* 1 0999 0.989 0945 0.828 0.623 0.377 0.172 0.055 0.011 0.001

* p-value(k) = Pr (N,, 2 k | z=05) = 1-BINOMDIST (k-1, 10, 0.5, 1)

04 -

Do not reject Hy

0.3 -

0.2 -

0.0 -
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A7h 9055 005004 17152 w&stet. Hy:p205 H, :p<05
N;p= 0 1 2 3 4 5 6 7 8 9 10

Pr(N;,=k) |0.001 0.010 0.044 0.117 0.205 0.246 0.205 0.117 0.044 0.010 0.001
p-value(k)* | 0.001 0.011 0.055 0.172 0.377 0.623 0.828 0.945 0.989 0999 1

* p-value(k) = Pr (Nyy<k | p = 0.5) = BINOMDIST (k, 10, 0.5, 1)
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Do not reject Hy
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0.2

0.1

0.0
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A=A 7-4

oA &A1 EX|7]E 100‘1* e tthal shAk 229

/\Q__' A+
1_.1_.

247} o] ® 0] ool

Wol Yo+ sxlol2ta 247t At 7V§% Ao, E—Q = 0. 0501]7\1 71E
= =55}

N =k 56 57 58 59 60 61 62 64 65 66
p-Value (k) 0.136  0.097 0.067 0.044 0.028 0.018 0.010 0.006 0.003 0.002 0.001
Ny = k 67 6 6 70 71 72 73 75 76 77
p-Value (k) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
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Do not reject H,
4 3 -2.326 , -1.645 . X
A =NORMSINV(0.01) A =NORMSINY(0.05)
I ¢ T o T E | ¢ | o
-2.32635| [_-1.64485]
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Do not reject Hy

1 1.645

2.326 ,

2
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Reject H,

a = 0.025

Do not reject Hy

-1.960

3

& =NORMSINV(0,025)

I ¢ 1 b ]

E

-1.95996!

Reject H,
a = 0.025
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